BOARD EXAM MODEL QUESTION PAPER
10th Standard

MATHEMATICS
1. READ ALL THE QUESTIONS CAREFULLY AND WRITE THE ANSWER
2. THE QUESTION PAPER COMPRISES OF FOUR PARTS
3. YOU MUST ANSWER FOR THE QUESTION 29 AND 42 AS COMPUSORY

Exam Time : 03:00:00 Hrs Total Marks : 100
I. CHOOSE THE CORRECT ANSWER: 14x1=14
1) 1fg={(1,1), (2,3), (3,5), (4,7)}is a function givrn by g(x)=ax+p then the values of o.and B are

(@) (-1,2) (b) (2,-1) (© (-1,-2) (d) (1,2)
2) The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is

(@) 2025 (b) 5220 (c) 5025 (d) 2520

3) IfA=2% and B =2%%+2%3+252+ _ +20 Which of the following is true?
(a) Bis 2% morethan A (b) Aand B areequal (c) BislargerthanAby1 (d) Ais largerthan B by1

4) If (x - 6) is the HCF of X? - 2x - 24 and X? - kx - 6 then the value of k is

(@) 3 (b) 5 (c) 6 (d) 8
5) 13 5 7
Forthe given matrix A= | 2 4 6 8 | the orderofthe matrix AT is
9111315
(@) 2x3 (b) 3x2 (c) 3x4 (d) 4x3

6) The perimeters of two similar triangles/AABC and AAPQR are 36 cm and 24 cm respectively. If PQ = 10

4l

cm, then the length of AB is

2 104/6 2
(@) 6— (b} — \/_cm (c) 80-—cm (d} 15cm
3 3 3
7) Atangentis perpendicular to the radius at the
(a) centre (b) point of contact ) () infinity (d) chord
8) The stope of the line joining (12,3),{4,a) is %. The vatuc of @’ is
(@) 1 (b) 4 (c) -5 (d) 2

9) (2,1)is the point of intersection of two lines.
(@) x-y-3=0;3x-y-7=0 (b) x+y=3;3x+y=7 (¢) 3x+y=3;x+y=7 (d) x+3y-3=0;x-y-7=0
10) If the ratio of the height of a tower and the length of its shadow is \/§:l then the angle of elevation of
the sun has measure
(a) 45° (b) 30° (c) 90° (d) 60°
11) The height and radius of the cone of which the frustum is a part are h; units and ry units respectively.
Height of the frustum is h, units and radius of the smaller base is r, units. If h, : h; =1:2 then ryiry is

(@) 1:3 (b) 1:2 () 2:1 (d) 3:1
12) The volume of a frustum if a cone of height L and ends -radio and ry and r5 is
(a) %nhl(r12+r22+rlr2) (b) %nh(r12+r22—rlr2) (c) mh(ri?+ry%+r1ry) (d) mh(ri?+ry%-riry)

13) If a letter is chosen at random from the English alphabets {a,b,...,z}, then the probability that the letter
chosen precedes x

12 1 23 3
(a) 13 (b) 3 (c) 2% (d) 2%
14) IF the probability of the non-happening of a event is g, then the probability of happening of that
event is
(a) 1-q (b) g (c) a/2 (d) xq
Il. ANSWER ANY TEN OF THE FOLLOWING: 15x2=30
QUESTION NUMBER 29 IS COMPULSORY

15) Represent the function f(x)=\/2:1:2 — bx + 3 as a composition of two functions.
16) Find the least positive value of x such that










